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package {
import flash.display.Sprite;
import flash.events.*;
import flash.net.Socket;
public class SocketExample extends Sprite {

private var socket:Socket;

public function SocketExample( ) {
socket = new Socket( );



/ Add an event listener to be notified when the connection
/I is made
socket.addEventListener( Event. CONNECT, onConnect );

// Connect to the server
socket.connect( "localhost", 2900 );

private function onConnect( event:Event ):void {
trace( "The socket is now connected..." );

}
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package {
import flash.display.Sprite;
import flash.events.*;
import flash.net. XMLSocket;

public class SocketExample extends Sprite {
private var socket: XMLSocket;

public function SocketExample( ) {
socket = new XMLSocket( );

/I Add an event listener to be notified when the connection is made
socket.addEventListener( Event. CONNECT, onConnect );

/I Connect to the server
socket.connect( "localhost"”, 2900 );

private function onConnect( event:Event ):void {
trace( "The xml socket is now connected..." );

}
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package {
import flash. display. Sprite;
import flash. events. ProgressEvent;
import flash. net. Socket;

public class SocketExample extends Sprite {
private var socket:Socket;

public function SocketExample( ) {
socket = new Socket( );

// Listen for when data is received from the socket server
socket. addEventListener ( ProgressEvent. SOCKET DATA,
onSocketData ) ;

// Connect to the server
socket. connect ( “localhost”, 2900 );
}

private function onSocketData( event:ProgressEvent ):void {
trace ( “Socket received ” + socket.bytesAvailable + 7 byte(s) of
data:” );

// Loop over all of the received data, and only read a byte if there
// 1is one available
while ( socket.bytesAvailable ) {



// Read a byte from the socket and display it
var data:int = socket.readByte( );
trace( data ) ;

}
}
}
}
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var string:String = socket. readUTFBytes (socket. bytesAvailable) ;
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package {
import flash. display. Sprite;
import flash. events. Event;
import flash. events. DataEvent;
import flash. net. XMLSocket;

public class SocketExample extends Sprite {
private var xmlSocket:XMLSocket;

public function SocketExample( ) {
xmlSocket = new XMLSocket( );

// Connect listener to send a message to the server
// after we make a successful connection
xmlSocket. addEventListener ( Event. CONNECT, onConnect ) ;

// Listen for when data is received from the socket server
xmlSocket. addEventListener ( DataEvent. DATA, onData ) ;

// Connect to the server
xmlSocket. connect ( “localhost”, 2900 );
}

private function onConnect( event:Event ):void {
xmlSocket. send ( "<test/>” ):
}

private function onData( event:DataEvent ):void {
// The raw string returned from the server.
// 1t might look something like this:
// <response>{test success= true’ /></response>
trace( event.data ) ;

// Convert the string into XML
var response:XML = new XML ( event.data );

// Using E4X, access the success attribute of the “test”
// element node in the response.



// Output: true
trace ( response. test. @success ) ;
}
}
}
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public const DETERMINE VERSION:int = O;
public const RECEIVE CHALLENGE:int = 1;

public const NORMAL:int = 2;
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stateMap = new Object( );

stateMap[ DETERMINE VERSION ] = readVersion;
stateMap[ RECEIVE CHALLENGE ] = readChallenge;
stateMap[ NORMAL ] = readNormalProtocol;
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var processFunc:Function = stateMap[ currentState ];
processFunc( ); // Invoke the appropriate processing function
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package {

import flash. display. Sprite;

import flash. events. ProgressEvent;

import flash. net. Socket;

import flash.utils.ByteArray;



public class SocketExample extends Sprite {

// The state constants to describe the protocol
public const DETERMINE VERSION:int = O;

public const RECEIVE CHALLENGE:int = 1;

public const NORMAL:int = 2;

// Maps a state to a processing function
private var stateMap:Object;

// Keeps track of the current protocol state
private var currentState:int;

private var socket:Socket;
public function SocketExample( ) {

// Initialzes the states map
stateMap = new Object( );

stateMap[ DETERMINE VERSION ] = readVersion;
stateMap[ RECEIVE CHALLENGE ] = readChallenge;
stateMap[ NORMAL ] = readNormalProtocol;

// Initialze the current state
currentState = DETERMINE VERSION;

// Create and connect the socket
socket = new Socket( );
socket. addEventListener ( ProgressEvent. SOCKET DATA,
onSocketData ) ;
socket. connect ( “localhost”, 2900 );
}

private function onSocketData( event:ProgressEvent ):void {
// Look up the processing function based on the current state
var processFunc:Function = stateMap[ currentState ];
processFunc( );

}

private function readVersion( ):void {
// Step 1 — read the version from the server
var version:int = socket.readInt( );

// Once the version is read, the next state is receiving



// the challenge from the server
currentState = RECEIVE CHALLENGE;

// Step 2 — write the version back to the server
socket.writelnt ( version );
socket. flush( ):

}

private function readChallenge( ):void {
// Step 3 — read the 8 byte challenge into a byte array
var bytes:ByteArray = new ByteArray( );
socket. readBytes( bytes, 0, 8 );

// After the challenge is received, the next state is
// the normal protocol operation
currentState = NORMAL;

// Step 4 — write the bytes back to the server
socket. writeBytes( bytes )
socket. flush( );

}

private function readNormalProtocol ( ):void {
// Step 5 — process the normal socket messages here now that
// that handshaking process is complete

}
}
}
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// Assume socket is a connected Socket instance
socket.close( ):; // Disconnect from the server
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// Assume xmlSocket is a connected XMLSocket instance
xmlSocket.close( ); // Disconnect from the server
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// Add an event listener to be notified when the server disconnects
// the client
socket. addEventListener ( Event. CLOSE, onClose );
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if ( socket.connected ) {

try {
socket.flush( );

}
catch( error:10Error ) {
logInstance.write( "socket.flush error\n" + error );

¥
}

else {
connectToSocketServer( );

}
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